A4






(a) Calculate the change in output code from the ADC for the transducer if the gap is changed from 500 (m to 600 (m.


(b) If the transducer was removed from the circuit what would be the DC offset voltage measured at the output.


(c) What is the bandwidth of the system response to changes in input gap?
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Figure A4
Additional information:

Op-amp:
Input offset voltage
5 mV



Input bias current
1 nA

Switch SW
Charge injection
0.5 pC



Switch frequency
1 MHz

ADC

Resolution
12 bit



Sampling frequency
20 kHz

Transducer
Diameter
2 cm



Air dielectric



Note (0 = 8.854 pF/m
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